

1400 University Drive East - College Station TX 77840 Phone (979)845-9727 Fax (979)258-1017 www.MscraAgeCS.com Quotation

Quote # Date
137203 01/13/12
Sales Rep
Steve Catlin
979-846-9727 Ext. 280

catlin@microagecs.com

or	Phones			
Chris Speier College Station ISD	(979) 694-567	6		
1812 Welsh Street College Station, TX 77840	PO#	Terms	Ship Date	Ship Via
United States				

1	Part	Description	Qty	Price	Ext. Price
1	COMTAMU1	Master Agreement M100299 - IT	1	\$0.00	\$0.00
2	J8700A#ABA	PROCURVE SWITCH 5412ZL-96G INTELL EDGE U.S ENGLISH LOCALIZATION	9	\$9,359.00	\$84,231.00
3	J8699A#ABA	THE PROCURVE SWITCH 5406ZL-48G INTELLIGENT EDGE SWITCH OFFERS 48-PORT 10/100/100	5	\$4,679.00	\$23,395.00
4	J8702A	24-PORT 10/100/1800 POE MODULE FOR 5400 SERIES SWITCHES	41	\$2,159.00	\$88,519.00
5	J9307A	HP PROCURVE 24P 10/100/1000 POE+ ZL MOD	12	\$2,519.00	\$30,228.00
6	J8705A	20-PORT 10/100/1000 POE + 4-PORT MINI-GBIC MODULE FOR 5400 SERIES SWITCHES	2	\$2,159.00	\$4,3 18.00
7	A6086F	HP PROCURVE 4-PORT 10GBE SFP+ ZL MODULE	15	\$2,519.00	\$37,785.00
8	J9150A	PROCURVE 10-GBE SFP+ SR TRANSCEIVER - LIMITED	26	\$911.00	\$23,686.00
9	J9151A	PROCURVE 10-GBE SFP+ LR TRANSCEIVER - LIMITED	4	\$2,219.00	\$8,876,00
10	J4859C	PROCURVE GIGABIT LX-LC MINI-GBIC	8	\$539.00	\$4,312.00
11	J8712A#ABA	STANDARD 875 W POWER SUPPLY FOR 5400 SERIES SWITCHES. SUPPLIES 273 W FOR POE POW	23	\$479.00	\$11,017.00
12	J8994A	PREMIUM EDGE LICENSE FOR SWITCH 5400 SERIES	14	\$1,799.00	\$25,186,00
13	J9283B	PROCURVE 10-GBE SFP+ 3M DIRECT ATTACH CABLE	2	\$161.00	\$322.00
14	J9310A#ABA	HP PROCURVE 3500YL-24G-POE+ SWITCH	3	\$2,339.00	\$7,017.00
15	J9311A#ABA	HP PROCURVE 3500YL-48G-POE+ SWITCH	1	\$4,319.00	\$4,319.00
16	J8993A	PROCURVE SWITCH 3500 YL PREMIUM EDGE LIC 3500 YL PREMIUM EDGE LICENSE UPGRADES A	4	\$1,199.00	\$4,796.00
17					
18	HA107A3#4XV	HP 3y 24x7 SW Support 5400zi Chassis	14	\$700.00	\$9,800.00
19	HA107A3#4AE	HP 3y 24x7 SW Support 3500yl 24 Port	3	\$150.00	\$450.00
20	HA107A3#4AM	HP 3y 24x7 SW Support 3500yl 48 Port	1	\$250.00	\$250.00

MicroAge College Stat	on Description	CTTP-/TC Secure I description	Qt	iote# 137203
1 1 1 212	Description	1 - 4		
			bTota!	\$368,507.00
		Sale	es Tax	\$0.00
		Sh	ilpping	\$0.00

Total

\$368,507.00

QUOTES ARE VALID FOR 30 DAYS FROM THE DATE SHOWN ABOVE, PRICES SUBJECT TO CHANGE - PRICES BASED UPON TOTAL PURCHASE - ALL DELIVERY, TRAINING OR CONSULTING SERVICES TO BE BILLED AT PUBLISHED RATES FOR EACH ACTIVITY INVOLVED - GENERALLY ALL HARDWARE COMPUTER COMPONENTS PROPOSED ABOVE ARE COVERED BY A LIMITED ONE TO THREE YEAR WARRANTY, COVERING PARTS AND LABOR ON A DEPOT BASIS - WE SPECIFICALLY DISCLAIM ANY AND ALL WARRANTIES, EXPRESS OR IMPLIED, INCLUDING BUT NOT LIMITED TO ANY IMPLIED WARRANTIES OR WITH REGARD TO ANY LICENSED PRODUCTS. WE SHALL NOT BE HELD LIABLE FOR ANY LOSS OF PROFITS, BUSINESS, GOODWILL, DATA, INTERRUPTION OF BUSINESS, INCIDENTIAL OR CONSEQUENTIAL MERCHANTABILITY OR FITNESS OF PURPOSE, OR DAMAGES RELATED TO THIS AGREEEMENT.

02/08/12 14:06:28 Page 2 / 2



(400 University Drive East - College Station, TX 77840 Phone (979)848-9727 Fax (979)268-1017 www.MicroAgeCS.com Quotation

Quote #	Date
137823	02/08/12
Sale	s Rep
Steve	e Catlin
	'27 Ext. 280
catlin@mic	roagecs.com

of	Phones		· · · · · · · · · · · · · · · · · · ·	
Chris Speier College Station ISD	(979) 694-567	6		
1812 Welsh Street College Station, TX 77840 United States	PO #	Terms	Ship Date	Ship Via
Office States	ì	Net 30 days	2/13/2012	

	Part	Description	Qty	Price	Ext Price
1	COMTAMU1	Master Agreement M100299 - IT	1	\$0.00	\$0.00
2	SER10010	Network Configuration Service	1	\$8,500.00	\$8,500.00
3	SER10050	On Site Service Networks (mounting switches & UPS)	1	\$3,600.00	\$3,600,00
-			<u>್ವಾಬ್ಯಾಕರಗಿಗಳ ಎಲ್ಲರ್ ಪ್ರಗಿ</u>	900.003.00 900.003.00	00.000,0 0
				SubTotal	
				galari est seus estatus estatus en acesto.	\$12,100.00 \$0.00 \$0.00

QUOTES ARE VALID FOR 30 DAYS FROM THE DATE SHOWN ABOVE, PRICES SUBJECT TO CHANGE - PRICES BASED UPON TOTAL PURCHASE - ALL DELIVERY, TRAINING OR CONSULTING SERVICES TO BE BILLED AT PUBLISHED RATES FOR EACH ACTIVITY INVOLVED - GENERALLY ALL HARDWARE COMPUTER COMPONENTS PROPOSED ABOVE ARE COVERED BY A LIMITED ONE TO THREE YEAR WARRANTY, COVERING PARTS AND LABOR ON A DEPOT BASIS - WE SPECIFICALLY DISCLAIM ANY AND ALL WARRANTIES, EXPRESS OR IMPLIED, INCLUDING BUT NOT LIMITED TO ANY IMPLIED WARRANTIES OR WITH REGARD TO ANY LICENSED PRODUCTS. WE SHALL NOT BE HELD LIABLE FOR ANY LOSS OF PROFITS, BUSINESS, GOODWILL, DATA, INTERRUPTION OF BUSINESS, INCIDENTIAL OR CONSEQUENTIAL MERCHANTABILITY OR FITNESS OF PURPOSE, OR DAMAGES RELATED TO THIS AGREEEMENT.

02/08/12 13:57:30 Page 1 / 1



1400 University Drive East - College Station, TX 77840 Phone (979)849-9727 Fax (979)268-1017 www.lebroAgeCS.com Quotation

/4		
	Quote #	Date
	137861	02/09/12
	Sales	Rep
	Steve	Catlin
	979-846-97	27 Ext. 280

catlin@microagecs.com

or	Phones			
Chris Speier College Station ISD	(979) 694-567	6		
1812 Welsh Street College Station, TX 77840		T		·
	PO#	Terms	Ship Date	Ship Via

	Part	Description	Qty	Price	Ext. Price
1	COMTAMU1	Master Agreement M100299 - IT	1	\$0.00	\$0.00
2	SU2200RTXL2UA	SMART ONLINE UPS 2200VA XL RM 2U TWR 120V 5-20P 7OUT USB SER SLOT	16	\$945.00	\$15,120.00
3	WEXT3-2200-3000	3YR EXTD WARR COVERAGE 2200-300 DVA SMART PRO SMART ONLINE VIRTUAL	16	\$95.00	\$1,520.00
4	BP48V242U	XL BATTERY PACK FOR SMART PRO 1500-3000VA 2U RACKMOUNT UPS	14	\$450.00	\$6,300.00
5	WEXT3-8P48V24	3YR EXT WARR COVERAGE FOR BP48V24-2U BATTERY PACK	14	\$40.00	\$560.00
3	SU750RTXL2U	750 VA UPS DBL CNVRSN SMRTONLN 60UT USB/RS-232/D89/SNMP - 750 VA	2	\$435.00	\$870.00
7	WEXT3-500-1500	3YR EXTD WARR COVERAGE 500-1500 VA SMART PRO SMART ONLINE VIRTUAL	2	\$45.00	\$90.00
3	2POSTRMKITVVM	2 POST RACK / WALL MOUNT KIT FOR 2U & 3U SMART PRO ONLINE & BP	2	\$55.00	\$110.00
€	SNMPWEBCARD	INTERNAL 10BT WEB SNMP CARD FOR REMOTE MGMT OF TRIPP LITE UPS	18	\$185.00	\$3,330.00
10	ENVIROSENSE	ENVIROSENSE MONITORS EXT TEMP/ HUMIDITY/INPUTS REQ SNMP CARD	18	\$125.00	\$2,250.00
···-			Hart borner Papers		Andria and Antrastant Company
				SubTotal	\$30,150.00
				ales Tax	\$0.00
		<u>-</u>		Shipping	\$0.00
				Total	\$30,150.00

QUOTES ARE VALID FOR 30 DAYS FROM THE DATE SHOWN ABOVE. PRICES SUBJECT TO CHANGE - PRICES BASED UPON TOTAL PURCHASE - ALL DELIVERY, TRAINING OR CONSULTING SERVICES TO BE BILLED AT PUBLISHED RATES FOR EACH ACTIVITY INVOLVED - GENERALLY ALL HARDWARE COMPUTER COMPONENTS PROPOSED ABOVE ARE COVERED BY A LIMITED ONE TO THREE YEAR WARRANTY, COVERING PARTS AND LABOR ON A DEPOT BASIS - WE SPECIFICALLY DISCLAIM ANY AND ALL WARRANTIES, EXPRESS OR IMPLIED, INCLUDING BUT NOT LIMITED TO ANY IMPLIED WARRANTIES OR WITH REGARD TO ANY LICENSED PRODUCTS. WE SHALL NOT BE HELD LIABLE FOR ANY LOSS OF PROFITS, BUSINESS, GOODWILL, DATA, INTERRUPTION OF BUSINESS, INCIDENTIAL OR CONSEQUENTIAL MERCHANTABILITY OR FITNESS OF PURPOSE, OR DAMAGES RELATED TO THIS AGREEEMENT.